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'# ��� 
�������� ��%� �	������ )Traffic Analysis(%��� ����(��� )�� �	�
� *�+����#�� ,���� �	�!�� �)Level Of 
Service LOS (�%-��# � "���� .#�� ����� * / .���� "� �	���� �1 �#��� �	������ ����&�� "���� ����	 	 !��� �

2��-� �������� 3�4 .5� .+6784 9��#��� ": 3��;<��� "= >;���� >� �
����� �	� ?���� ���	 �; �	 !��� ������ �� 
��@��4 ������� �	������ ���� � ������ ���#����� .����.

A!��� ��4 ��4*�+ ���B�7� ���
B� C��B!� �B	� ��� >B-����� �� �������� ������� � �#� * / 2���� �	 �� 
)Saturation Flow(�������� �����
��� �� ���������	����� .D8E+�� �	����� $�=� ����
� .�=� .F1�� �� 9�	 

�� C��! � ����& ���� G�
�� ��5(��� .���� �	���/ >-���H��&	��=� ��&�� �
	�� �	��� I�-	 95 "�)HCM2000 (
���� .#�� �	����� �������� ����� �����
� ��/ "� �	�;�� � 5�: * / .� 	FB1� J�B� 9�	 �	����� ���#�� �� �

G�	 
! ������ ���
� $�	; ���-�� ������ ?������ )�/ ��	�� �� �������� >��
��� )�� * / � �/ �	���� � F!
����.

�&	��=� ��&�� ��;</ 9��#���� � 	 !��� C��!�� >� � 
!�� $�	
�� ?���� ����
� 9�� .K	!F� .���/ L������ 9�	 �
G������� �	 	 !��� ��;<��� * / *�+ �	 
!�� ����	
�� ?���� ."&�	 �M�N/ �: ���# A!��� ��4 ��B& �	��� .	�� �� �	�

� �������� .�-� �� I��� ���/� �� C�;: ?���� .�F!��7 �	����� "�&*�+� !��� I������ ���;�� .

1������
����� ������� �
	� �� ������ �!��� ��" ����� ����
.
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1-���
� 
2.,��� �
.
!$ ��
� �# �
������ �������� /��$

 �3���� 4������5�6 �� ��+	� ������ 7�$�� �
�!$ 
(��).* �.8� �
������ ����9��� �� �
���� ���

%�&�'� )Saturation Flow (���.�� �)Capacity(
���:$�� ��))Delay Time(�	1��� ��) �)Travel 

Time...(;�� .�8� �
������ ������� �� �
���� �+�$�
 �..�
���� ��..���)HCM2000 (��.."���� <..�&

 ����9��� =>3 ?��1� �
	
	1$���
�!$��35	@ (��$��
 �
$�$���� �������� �� �
���� �.� �� ?��.
$ �

��
	1� ���&� .5.�6 A��0� �/��.0�� /�$.��
 # �
+
1���BC��	& �� /	$�$ �" �������� =>3 5.�6 

��D EB# F�>�C��.# ��."���� =>.3 �.8� ����$�� 
�.
	1��� �.�#��0 ��, �
������ ��&��1������ 

G��
6 A����$�� �
&��1�� ������	� (�
��� 5�6 ������ 
�1&� �
	1� H�"4�9
 �5�6 (�
�& � �!
"� �
* I-�$� 

2"���� �@.�H.1&�� �>3 �
�3J 2&�$ ��3 �� KL. �& 
�
�� M-� .� �
�1$ �
&� �# 5���� (�+��� ��.


 � �
	1��� ��#��0 �# 4������ $� ����!����&��1�� I-
 �
	
	1$��&?��
$���
-� 1'� �
	!1�� ./�.�$ �$��
 ��	�
�&5�6 .# �"��� (��
) N�$�$.�� ����.�9���

 ���� �
������ �
������ ���1�� /��0& � ����� ��
 ���� ��
�� �#E�.
	�@ �&�& �

����� =>3 �
�+$� 
��� 7�� G��!$�O �.1�$!��� 2
����	� 4������ ����

/
���$�� �03�& (��@ ���$ �$��.
���+��� 5	@ H1&�� �>3 4�$1
�
$P�:

�(��)* ?��1 %�&�'� �+�&,.��� ��.�+!$�� �# 
A�!#� �
	
	1$�� ��"���� ����$��& �
������ ����� �
��� 
��
���� ��
���� ��+	� )HCM2000(�.���!���& 

&7��J �
���@ �����E<.�& 5	@ �	8�J �
&+$ 2� 
���� ���� �
"�+�� ��&��� �# 2+�!���.

�(��)* ?��1 �# �
&
�
$�� �!
�+�� ��� %�&�'� 
2"���� �# �+�&,��� ���+!$�� �#E�5.	@ ��!
&+$

 2+�!����L�����
���� �# �
"�+�� ��&��� ��.
��&�.���& �
	!1�� ����
!��& �
&��1�� I-�$��� ����!� 

� 5�6�������� 2+�!��� ER
1 $�� ����@ N�$�$��.
2O������ ���
� C��! ����B��� ��B���
��� �� 

�	���B�� ��������)Saturation Flow Rate (
	 !��� �
	������	  

2-1-C�! �	 	 !��� ��;<��� [1] [HCM2000]:
(��)* ?�1$%�&�'� �@��
� ��� ����1 �
���� 

)?������ �@��
� (�������� �#��
$��:
S=So .fW .fHV .fg .fp .fbb .fa .fLU .fLT .fRT .fLPb 

.fRPb [1]  
U>V6 (��)* �&�$ %�&�'� �# ��&���� ��
�
 ���� �@ 

�� �� 4>�� �@���� �@��
� �&" �� ?@�$�
 �J ����
 �
����)lane group(�,.��� ��).�� �J <�L& 
���100%�
-�,�� (����� ��) �� .
So (��)* %�&.�'� �
.����� )Base Saturation 

Flow(:
).W� �
.���J �.�
" ��
$��& ?��1�� �
	�@ J�&$�(�

%�&�'� ?�.1 (��@ �3 �$�� [HCM2000] 1900 
pc/h/ln ��1) @�& 1900 أي ��� �@���� �# ?��� �
�
����.

(��)* �&�$%�&�'� �
����� )So().* ��
" �@ �(�
%�&�'� +����� ���� ��1 �# �
�
���.��1�� �.#

 6 4J �
��8���C�������� �
" �
�
��=1E���1 �3� O
&�$��.8J ����B& ��
!�� =>3 �
��$ �$
 �>� E2"���� �@ 

�# ?�,�� �
�+ �@ +��� (�@��&��.�� ������
$:
 ��� F�>� �3��>�:

2-2-C��! �;</ �� ���#����� .������ �	S� �	5T�
����7� ���
�:
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2-2-1fw�B	������ ���B!�� )�B/ .	��� .��/
)Adjustment for lane width:(

?�1 [HCM2000] [1]:
����.1	� �&	�.�� �8�� ����' ������ �>3 ���$�


 (��)* ���� 5	@ �!
,��%�&�'�E�
" (��
)& R��
� 
������� ����1	� %�&�'� (��)*.

�
Y�<���� ���8��� ������ (��1� 3.6m .Z�[1\
\?�>3 
=�&$�O� 2� ������5�6 O �J ?.

 (��1�� <�@ �J 

@ �
)
5	4.8m U>V6 ���
 ���� �$��1 ��&$@� �3��@
� AO�&(�1�� �.

$!
, ���� �$��1 ����$�� �J �01�� 2� /�� �

 �
" A��-�� �+�
A�����$.�� �@ %�&�'� (��)W� �&�J 

�,
�@ (�1�� (��1.
	� �# ����$�.��1�� ���
 �J �
	1$	� ?

 �
$��1�� 

���� 1 2"�$��� �J (��
���� �
!
!1��.
�@ ������ (��1 <�@ �!
 O �J ?

�2.4m �# 

�$
 O O6� ���1�� �� ��1 4JY�Z@(��1�� =>3 .
" ?�1$ �"���� �� ������ �>3 ��
�
$P�:

9
6.31 −+= Wfw

U>V6 :W(��1�� <�@4.8m >W >= 2.4m 
]&
��
������ �
" ���$�� ���
�� fW�
" (��� �&��1��� 
��W:

fWW (m) 
0.867 2.4 min 
0.933 3.0 

1.0 3.6 ideal 
1.044 4.0 
1.133 4.8 max 
]
&
� 
" ���$�� ++���� ������� �fW�
" (��� �!#����� 
��W�
& 2.4m �4.8m:

0.500

0.600

0.700

0.800

0.900

1.000

1.100

1.200

1.300

1.400

1.500

2.4 2 .6 2.8 3 3.2 3 .4 3 .6 3. 8 4 4.2 4 .4 4. 6 4.8W (m)

f w

.&���2O1:.������ �	S�fW���!�� )�/ �	S� >� 
�	������WC�! [1] 

C�! [2]:
��
" ��1 �# 2&�$$�� ��) ��> �.
���� ����1 �# 
�
W$� <�@E7���� ������� ���$ �J +��& ���� 


�
���)+����� �
!& (���
" �J 4J �
��8��� ���1�� �#
 =1.0 �B# E2&�$$�� ���)J
!��� �
!�� >�:$ ���
$P�:

h (sec/veh) W (m) 
2.6 3.0 
2.4 3.3 
2.1 3.6 
2.0 3.9 
1.9 4.2 

������� ��&$@�&��
�
���$&�8)�
��8� (�.����� ��@��
fW��&$@� ���
 K�B# :S=So fWوSoS/ =fW

S�������� ���1	� %�&�'� (��)* vh/h/lgp 
So�
����� %�&�'� (��)*)�
��8���(Pc/h/lgp 

So=3600/ho , S=3600/h , ,hoh /=fW
$�Y�� 2.1sec/v =ho(��1	� ���8��� <���� ��&$@�& 

3.6m ������ �
" ���$ ����� fW$:
 ��� �:
hoh /=fWW (m) 

2.1/2.6=0.81 3.0 
2.1/2.4=0.88 3.3 

2.1/2.1=1.0 3.6 
2.1/2.0=1.05 3.9 
2.1/1.9=1.11 4.2 

]
&
� ������ �
" ���$�� ++���� �fW�
" (��� �!#����� 
��W:
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Fw

0.5
0.6
0.7
0.8
0.9

1
1.1
1.2
1.3

3.00 3.30 3.60 3.90 4.20
W (m)

Fw

.&���2O2:.������ �	S�fW���!�� )�/ �	S� >� 
�	������WC�! [2] 

C�![3] :
��	� �J (��1�� <�@ �" ��	����)� � �-��@ ?�" �

�.�6 A�.
-�!	$ �-���� 2#�
 ��� �-���� �$�$ ��) (��1��
 �.!1���� �!&���� (��
���� K$��
� �
& �#����� (��
)�

 �@���� /
L�$� �J ��� .F�> �� 1 ��@� .$ <L��
 (��)*%�&�'�.

������ ��
" >�9$�fW�?�.1 ���.$�� ���.
�� �
(��1�� <�@E(�1�� ��
 �� �-���� ��
� ?�1� E
�
$�
 �� �JE������ ����1 ��@ ?�1� :

�
$�
�� �� �-�@ ��
� ���1(�1�� ��
 �� �-�@ ��
� ���1 
W (m) W (m) 

2.7 m3.0 m3.4 m 3.7 m 2.7 m 3.0 m 3.4 m 3.7 m 

�..#�1 �..� �#��..���
(��1��5�6�-���� 
(m) 

�
3�
$�& �
�+)�
3�
$O�& �
���� ����1 2&�J(
0.81 0.910.97 1.00 0.81 0.91 0.97 1.00 1.83 
0.79 0.890.95 0.98 0.80 0.90 0.96 0.99 1.22 
0.76 0.860.91 0.94 0.79 0.88 0.94 0.97 0.61 
0.66 0.740.79 0.81 0.73 0.82 0.87 0.90 0

�J �J �
���� ����1 �� �> �
�+�
3�
$O�& �8 
0.78 0.890.96 1.00 0.78 0.89 0.96 1.00 1.83 
0.77 0.870.94 0.98 0.77 0.88 0.95 0.99 1.22 
0.75 0.850.92 0.96 0.76 0.87 0.93 0.97 0.61 
0.70 0.810.87 0.91 0.74 0.85 0.91 0.94 0

]&$� ��++���� �
�
$P� ������ �
" fW(�.�� �!#����� 
�� �
"W1����1�� ��@� �-����� ��
� ?�:

	

� �
- و��د �� 
�رات �����
�ه�	� �
��&% $#"� ذو أر�
�(% وا�)ة 

0
0.2
0.4
0.6
0.8

1
1.2

2.7 3 3.4 3.7 W (m)

fw

1.83
1.22
0.61
0

	

� �
- و��د �� 
�رات �����
�ه�	� �
��&% $#"� ذو أر�
ا&�(*�	

0
0.2
0.4
0.6
0.8

1
1.2

2.7 3 3.4 3.7 W (m)

fw

1.83
1.22
0.61
0

	
� �
- و��د �� ��&% $#"� ذو ,+ ��رات ������ه�	
ا&�(*�	

0
0.2
0.4
0.6
0.8

1
1.2

2.7 3 3.4 3.7 W (m)

fw

1.83
1.22
0.61
0

.&���2O3:.B������ �	S�fW���B!�� )�B/ �B	S� >B� 
�	������WC�! [3] 

•$:
 ��
#� ������ �
" �
& ����!� �fW��+�� ?�1 
�3��> �&���� �8�8��:

fW
Transportation and 

Traffic 
Engineering Hand 

Book\Second 
Edition[3] 

fW
Traffic 

Engineering\Secon
d Edition[2] 

fW
HCM2000[1] 

W
(m) 

0.91 0.81 0.933 3.0 
0.925 0.833 0.944 3.1 

0.94 0.856 0.956 3.2 
0.955 0.88 0.967 3.3 

0.97 0.92 0.978 3.4 
0.98 0.96 0.989 3.5 
0.99 1.0 1.0 3.6 

.��-��2O1:.������ �	S�fW���!�� )�/ �	S� >� 
�	������W
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�]&
 (��.1�� <�.@ ���@ �
" ���$�� ++���� �
fW

��+�� ?�1�# (���>��� �8�8�� 2
����� :
�23 ا&1#ق ا&/.-% fw 4�5 	�� %6�7ر�

0

0.2

0.4

0.6

0.8

1

1.2

3 3.1 3.2 3.3 3.4 3.5 3.6 W (m)

fw

HCM2000

Traffic Engineering

Transportation and Traffic
engineering

 
.&���2O4:.������ 9	; ����
�fW���!�� )�/ �	S� >� 

�	������W
��!<�:

(�
&� �
���� (��)* ��
� ��@� (��>�� ��@�� �#
 ��@ ��> �
���� ����1 ����$�� �$
 �J ������ ��

 �� �&�J ���.1& �.
!$�� ��@ 4J E��� ��� ����1��
����1��E�C�8̂ �� ?��.1 5.	@ ����1�� ��@ (��
) 

(�1���� (��1�� <�@U>V6 � .
 �J ������ �� 5.�6 
�
���� K$�
".

•> %��> <�L&4<�@ 14.4m <��� ���
 
(��).W�� ?�.1 �.
W$
 �J ����.1�� ��@� (��1��

�
������E�C�8̂ �� 4�9
 5�6 �.@ �
" �
W$ �.# �
	�
 %�&�'� (��)* ��
" ?��1E��3� fW�N��.�
� 

$:.
 �.�� �
	��.��� ?�., I$�� �.#� F.�>� �
HCM2000:
S/Sref 

���� <�L&
 7���� �������

�
�
�����1�� �#
 �
��8���(1) 

N. fWfWW (m) N

1.3 5.202 0.867 2.4 (min) 6
1.15 4.6 0.92 2.88 5
1.0 4.0 1.0 3.6 (ideal) 4

0.85 3.399 1.133 4.8 (max) 3
2-2-2fHV �5: .�#�+ .��/ � 	
5�� ������� +.��/

�	���� .	� 

)Adjustment for heavy vehicles +
(Adjustment for grade:

?�1[1][HCM2000]:
��.&���� �.8J �� ��� �
	 L�� �
	��@ ��
� ?&�

 �	
!8�� +�
�+�� �
�E?����� ��&�@ �J R
,�$ �3 
$$ �	
!8�� ��&���� ��
�& �8:E��
� /�$��& �8:$$ ��� 

�
�+��.
��.&���� �.��:& �	
!8�� ��&���� /��$ �.$�� ��.@ 

$�
@���� �&�J 4.�	
!8�� ��&���� �8J ����6 ���@
 & >�:
��&�1�� =>.3 ��	W�.$ �$�� �
#�,'� �1����� 
��&����E��.&���� =>3 �
W�$ (��!� �# /�$�O�� 
����!�&&��?����� ��.

� 5�6 �&����& 9#��$�� ����� >�9
 ���1��.�2�J 4J 
?��� �$��
� ����$ ��1�� ��.
& >�:
# �
�+�� �
� ���@ ��J ��&�.1�� �.
� �
8:.$ 

�
�+���#��&���� �
W�$ �
�
��.

�1��"���� �#� ������� ��>3 ?�
$P�:

•���@�	
!8�� ��&����:
)1%(100

100
−+

=
T

HV EHVf

U>V6:
HV% :�	
!8�� ��&��	� �
�-��� �&���� 5�6 ̀�.� 

�
���� �@��
� 
ET = 2.0 

pc/HV :9#��$�� �����)?�.���� ����
.� ��@
�&���� �8�$ �$��(

•�
�+�� �
� ���@ :200
%1 Gf g −=

V6U>:
G% �
������ �@��
�	� ���+�� �
��� 

-
6<=G%<=+10 �.
��� �.@ �&����� (���'� �&�$

$�&��)��� =�
 
?�1[2]:



�# ����� �
�!$%�&�'� (��)* � ���+�!$�� �#�+�&,�� �
-�,�� �����'� �+���& ��.��
!�� �
.& ����!� ���� ��
�� /��0 �#
�
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�������:fHV 2&$
 �>3������ +!# ��.&���� �&��
 E4������ ��
$�� �# �	
!8���]��$ �	
!8�� �&���� /&a�: ��

 <��� �.��$ ��
@ 2&�J �� �8�J ��� �&�@ 4J
��$��1 ���.

�.���� ?��.1 �$
 E(��1�� <�@ ?��1 �# ���
 ���$�O�& �	
!8�� ��&����5�6 .& �.���!� �
�. �L�� 

�
$
��.$$� �
$&��� �
& ���)��)headway(�8:.$��� 
�	
!8�� ��&���� ��
�&E�
&� �.��)�� �. �L�� �.# 

�
��8� /��0.
�.
��8� /��.0 ��> 2."��� �# ��
!�� �
	�@ �$$E

� E/�+��� �
�
 O H
1 ����1 �# A����@� A��.0� 
5�6b�J �.!# �.	
!8�� ��&���� ����& ��1$�� ���
 O K

@ ��$ ��.
" �
	� �.��)�� �. �L�� G��8$.�� ���
�	
!8�� ��&����.
��
!�� I-�$� ��:


!��� ��)���+���� �:h=2.34 sec/veh 

!��� ��)�����8��� �:h0=2.18 sec/veh 
Y��
 U>6V �
& �
1��� ��L�� h�ho��.&���� �
8:$ �3 
�	
!8��.
��$�
 ?��1 h5	@ 415.	@ ��$�.$ ��
" �
	�@ 
����6@�	
!8 ��&�.
��J ?��1ho#5	@ ��$�
 41��
"A����.� ���$ O

�	
!8 ��&�@.
�?��1 ���
 K����
8:$ ���@ �	
!8�� ��&����:

93.034.2
18.2 === h

hf o
HV 

��
��8 �!
�+& K&��1 ���
 �J:
.�� EJ ��,�# ��41/��.0�� �.# �.��� �&�
$ 
%��
� �B# �
��8���� �L�� ��)��:

41*2.18=89.4 sec 
���� �� ��J
# �
��8� �
* /��0 �# ��)�� ���:

41*2.34=95.94 sec 

��
� �B# �>�6?&�.$ �" �	
!8 ��&�@ �.# (��.
)
���!�& ��)��:

95.94-89.38=6.56 sec 
�&�@ �� �J 4J �	
!8 �&&�$ ���!�& ��)�� �# (��
)

 6.56/6=1.09 sec/hv 
J 4J���..�L�� ��)..�� (effective saturation 

headway) �"���� �� K&��1 ���
 �	
!8 �&�@ ��� 
�
$P�:

2.18+1.09=3.27 sec/heavy vehicle 
����� ?��1 ��
!�� =>3 �� ���
� �.�� c#�.���� ��

$:
 ��� �	
!8 �&�@�:
�J 4JEHV=3.27/2.18=1.5 

�"�@ �# <
��$��&�fHV �� HCM2000:
)1%(1

1
−+

=
HV

HV EHVf

93.0)15.1(15.01
1 =−+

=HVf

�

$��� �3��L�����
	@ ��	 1 �$���!&��.
������:fg2&$
 �!
�+�� ������ �>3 ?��1�L����$��

 E�!&���� ������� ?��1 �# ��&$��"� (�.@ ��
$�� 
�
3�.
$O�& �.L	$�� ��
� �
" ��> 2"���)���. 

��)��(E7���� +����� ���� �
�
���.# �.���
 �
��8��� ���1�� �@ A�,# $ K�J �$�� �O�1�� ���&$�� �

�	
!8 ��&�@ /�+��� ��
# ��� ���� �J�3.
�$ � 5.�6 �&����& �
��8��� ���1�� Y� <��� �.3 �.
��

 �
�$����)G=0%(E2
��� ���$�$ �$�� ���1�� �3� 
?��1	�.

2&�$$�� ��) ��
" ��@h�.��� �.L	$�� ��
� ��@ 
I-�$����
$P�:

h(+4%) = 2.9 sec/veh 
h(+2%) = 2.5 sec/veh 
h(0%)   = 2.0 sec/veh 
h(-2%) = 1.8  sec/veh 
h(-4%) = 1.7  sec/veh 
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fg = ho/h            fg (+4%) = 2.0/2.9 = 0.69 
fg (+2%) = 2.0/2.5 = 0.80 
fg ( 0% ) = 2.0/2.0 = 1.00 
fg (-2%) = 2.0/1.8 = 1.11 
fg (-4%) = 2.0/1.7 = 1.18 

 �&����� ��
��� ���1 �#)��)� =�
$� (�
��� ���@ �
"
 �� �&�J ���$1.0E�
�
 ��� 5�6 �# (��)W�� ��
�)� 

@ �&����� ��
��� ���15	<��� �.��1 �.# (��)W�� 
�
�$����.
?�1[3]:

�
��� �
8:$ �$:
�#��@��.�� ?&�& ������ 7�$�� 
�.��� ��
$	� ������� �L	$���� ��&���	� �L	$����4�� .

�.
��� (�+�� ��+�� ?�1 �
8:$�� �>3 ���!� ��1$

 ���� (��!�� ���L$���� �	�$ 5	@ ��& .1$$ �.$�� ��

 �&���� �)� ?�1 �3���&–�� 1�� (�" .
Y��$ 5$1 ��
���2%���� �
8:$ ��> �.# ��.&�@ 

�.8
�1�� �.
�
#�$�� ��. �&��� ?�.����(14-20 
kg/hp) ..	3�
$ (��.@ �$
 ��
��� =>3 �
8:$ �.# K

�$ ����@ ����� ��&��1��,L��� ���1���� �&�� �.
����@ ����)W�� �
"� ����� �# �
8:$ ��� ���
 ����

&��� �
��� ���
A�.
�
1�
�.�� ��. �&��� ?����� ��&�@ �0��)�.#

��
��J (��@�.� 5	@ 0#�1$ �J ��� ���
(48-64 
km/h) 5$1 � $ �
��@ ��
� 5	@ 7%.>�F�5$1 

��
��� =>3$�Y����� �
8:$ ��> �#���.�@ ���.�� 
�J ����
�.�� =>.3 %�.� �� ��&���� �0�� ���


�� �&��.
$:
 ��
# ��> ��.&���� %��.�J �.� %�� ��� ��� �

�-
+&�� ���1��.
����1���� :5.	@ ���
 ��
�	� ������ �
8:$��

�
!8�� �)��� ��> ���1����/�� 1�� (�" .(��!� ���$
 �	�$ 5	@ ��&���� =>3 (��.@ ���L$����(91-136-

181 kg/hp) . �# (�1�� ��+��freeway�J ��.+��
��
���� multilane highway �1J 9+�&$ �
8:$ ���
 

�!�� 4������ ��
$�� ������EA� ���L� �
�� A�������& .
�# f<��J 5	@ �,L����� (��)W�� ���1 A�
&�� �1+�� 

=>.3 �
8:.$ ��.�
 E���1��.	� �,L��� �&�� 2�
�� ���1���#��A���� �@�� H���.1�� (��.
) +!#� 

4�9$ �J ���
5�6������ 7�$�� �
W$ .
�@��.�� ���1 �� ��� F�$���� �
8:$�� ?&�& A����@

(89 km/h))��.
O��� �.# �.�& ������� �@����
(�1$��� (�B.# ���1��.�� G��J �# �

��$�� ��+$���

A�&��!$� gG��J �+�$ ���1����� ?����� ��&�@.
� ���1���� �&�� (��
) ��1 �#/�
��� (�+� (��
) �J

 ��
���� ��&���� �
�$5�6 �.�� �
�
�
�� (��1�� ?�
$ 
7���� ����1�� �# (��)W�� �
)
E�C�8̂ �� 4�9
 5�6 

��
��.�� ��.&��	� ������ 7�$��� �@���� <L�
)?����� ��&�@ ��@ ���&.(
��� �&�� :��. �&�� �
W�.$ M-� � ?��!$
�� �.# ?�.���� ����
� M-� � ��
����� �
1�
�

 /��0�� �0�� .��� ���
 ��+�� (��
) +!# �89.$ �J
 (��)W�� �# .�1&�� ����J �.# K.�J �
�
J �$�� H

(�..1�� ��..+�� freeway���
��..�� ��..+�� 
expressway �� �"J ��
� 2� 4%���@ >�J ���
 

�
& �� �&	� 9#��$��1.4 �1.7 4J ?�.�� (��
.� 
A�
+�� 1.6 .C�J K���36 �$
# �
W �� �
8:$�� ���C
.�O� 

(��.@ ��.�$ 4������ ��
$�� �# �� �&�� �&�� �J
 A��
 (�
W E�O�1�� <�& �# ���� $ ���.�@ �.
�

 ��.�
 �3�
8:$ �B# (�
&� �� �& �&��� (�
&� ��
�
�
�
A�=>�:& ��&�1��&.
��
�
#�$�� ��&���� :�.# �.0�1	� (��.
) ����

 �# �3���@J � �# (�
��� ������� �.� �L	$�� �+��



�# ����� �
�!$%�&�'� (��)* � ���+�!$�� �#�+�&,�� �
-�,�� �����'� �+���& ��.��
!�� �
.& ����!� ���� ��
�� /��0 �#
�
	
	1$�� �!
�+��� �
	!1�� 
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������ .=>3 ���$� ��&���� �.
$P� %��.���:�.8� 
����� ��&�@ E(��+!� 2� ?D F
& ...  

)campers – pickup with trailers – motor 
homes (JK&�� ��� .�.� (��)W�� �# �3�
8:$ �$:
�

 ���� �.� %���� �>�& (��@ �
!-���� (�&� ��@ ��.&� .
�1&�� �B# �8
�1 ��L �&� %���� �>3 �
8:$& �!	�$��� H

(���1�E�# �
�
J �"� (����+!# (�
��� .
•U�Z�h�i+���� �
8:$� ����@ �-
+&�� ���1�� ��> ��&

 5�6 �&����& ��
�� ��
�E�.������ �>3 (�1� 5��$� 
passenger car equivalent ��.@ �.8�
 4>.��

 ��� ?����� ����
��� �	8 �	
!8�� �&��	)�.��1�� ��>
�-
+&�� (�J ��
�� ��
� ��@ ��	1� �1$ �J ���
 �$��

��
�� �!+��.
A�
��1 ����U�Z�h�i+������	� ������� =>3�
$P�:

RVRVRVBBBTTT PEPPEPPEPSM
+−+−+−= 100

100 
U>V6:

PT , PB , PRV ����
�.�� E��. �&�� E���1���� �&��
�
�
#�$�� 

ET , EB , ERV 9#��$�� ����� �.�� ?����� ����
� ��
 ����
�.�� E��. �&�� E���1��.�� ��

�
�
#�$�� 
.C�J E��
!�� �� ��&���� =>�� �
�-��� ?���� >�9$� �
=>.3 ��1$ � �� ����
 �� >�9$# 9#��$�� ������

 �
�+�� �
� ?�1 �������E�.&���� %�.� ?�1� E
�
�-��� ��$&���.

2-2-3-fp�;�� ���! ��-� .��/)Adjustment 
for Parking(:

?�1[1][HCM2000]:
������fP/"�$ (��1 ��
� �
8:$ ?�1
 �#(��)W�� 

�.@��
� �# ?���.��� (lane group) ���.
��� 
����
��� ���� �
8:$ A�,
J�
������(��.1 �.�

 (���
��� /"�$��j4�9
 ��� 5�6 �
�	� �"9� �
+�$ .
(����� ��)AO��� ���� G��� 
��� �J A�(@ ���$ 5	

 � (��1�� �# �
��� /�!
6 /"�$�� (��1� (���
�� (�.�
 �
+��18sec.

�>.3 ?��.1 �."�@ �# ����$���� ��������� ��@
 �+�.�� �.# �@�� ��� ��������� ��@ �3 ������

 (���
��� /"�$�� ?������ �@��
�� �#��.��� 75m 
/"�$�� +� �� .�� �8�J �
� �>6180 �.# (����� 

� ����$�� �$
 �@���� ����180�"���� �# .
(���
� /"�$�� (��1 ���� �>6� ?���.��� �@��
�� 

�>3 5	@ �&+�
 ?��1��� ������# E/+��� �@��
��
?������ +!# .�.��1 �# ���$���� ��������� ��@�
 > �
�+ �1�� =�
$� 4�
� 1 /�+��� ����1 ���

 	�� �	��� ����� �3�$�$�
 ?������ �@��
� .$�?

0 �J �01�� �����.�� ��
� ��@ 2� /"�$�� /��

 ��.
� ��@ ���1 �@ (��)W�� 5	@ /	$�� �
8:$ ���
/"�$ (��1.

�"���� ���$�$�
$P������� �>3 ?��1� :

N

NN
f

m

P
3600
181.0 −−

=

U>V6:
N.�� ����1 ��@?������ �@��
� 

Nm/"�$�� ������� ��@/�@�� 
0< Nm<180 

���
 H
1&�fp>0.050 
@ ���1 �#/"�$ (��1 ��
� ��:=1fP

?�1 [2]:
�# %�&�'� (��)* �8:$$?������ �@��
� �.��1 �# 

�
	���& ����
��� /"�$� � �� (��1 ��
�:
AO�J �
 �$ ���1	� �
�� /"�$	� (��1�� =>3 M.
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A�
��8��(��1�� =>3 �� ��&����� ���1 ���
�6 �89.

�# 4�9
� (���
��� (��1�� 5�6��1�� �
+�$ ��
# �.

������ ?��1�fP
" ����.1 �.# 2&�.$$�� ��) �

��/."�$	� �  �� ����1� (��E��.�$ H.
1& 

7���� +������
�
���
��8� :(��.1�� <�@ A�8�
3.6m �
��� E0%�.�
# �.$�� �O�.1�� ��&$�$� E

/�+��� �J �	
!8 ��&�@... 

" +����� =>3 �# ��.��1�� ��.@ �)�J ��.��

N��� (�#����75m 2+�!$�� �� .C�J �
��8��� ���1�� �
/"�$	� � �� (��1 K
# �
�
 O 2"�� �# ��!$#.

I-�$��� 5	@ �� 1�� �$��
$P�:
h(no parking) = 2.0 sec/veh 
h(parking, 0 mvts/hr) = 2.1 sec/veh 
h(parking, 10 mvts/hr) = 2.3 sec/veh 
h(parking, 20 mvts/hr) = 2.4 sec/veh 
h(parking, 30 mvts/hr) = 2.6 sec/veh 
h(parking, 50 mvts/hr) = 2.9 sec/veh 

 �
!�� =>3�
�
��(��.1� (���
��� ��
�
�� (��1	� �3
/"�$��.

������ ?��1�fP������ AO�J ?�1� EfPr �.3 4>��
 2.� +.!# �.
�
�
�� (��1	� /"�$ (��1 ��
� ���@

��8� ���1� /"�$ (��1 ��
� ��@ ���1 ����$�� �
ho.
fpr (0 mvts/hr) = ho/h = 2.0/2.1 = 0.95   
fpr (10 mvts/hr) = 2.0/2.3 = 0.87   
fpr (20 mvts/hr) = 2.0/2.4 = 0.83 
fpr (30 mvts/hr) = 2.0/2.6 = 0.77   
fpr (50 mvts/hr) = 2.0/2.9 = 0.69 

�.����� ?��1 ��&fpr �.����� ?��.1 �.��
 fp

?������ �@��
�� 
93.0)1(0.1

=
−+

= N
Nff pr

P

U>V6 :N�# ����1�� ��@ ?������ �@��
� 
��8�� :<�L&fpr=0.85 �# ����1�� ��@� �@��
�

?������ =3
������ ���
fp:

95.03
85.2

3
)13(0.185.0 ==−+=Pf

�.����� �
." �+�
 ���
 G���6 ���
�fp(�.��&� 
?�1fpr �N.

2-2-4fbb ��BF���� �;�� .��/ )Adjustment 
for bus blockage:(

?�1[HCM2000]  [1]:
�� �&�� /"�$ ���@fbb �
	1��� ���1�� �
8:$ ?�1
 

&��� �!$� /"�$$ �$�� �� �&	�A��J�$�)���J A�.&
�"
 5.$1 � $ �#���� �� �&�� /"�� �@ A��
�&75m 

/"�$�� +� �� .�.��1 �.# +!# ������ �>3 ���$�

 �# �
�+�� ������ ?������ �@��
� �.
" ���� �.��
�� �&�� �
8:$& .�� �8�J G� 16 �$ �>6250 bus/hr 

��
!�� ����$�� �$
250 .�.$�� �.
��$�� �."���� �#
 �+.�� ��) ���$@� �$ �� �&�� /"�$ �
8:$ ?�1$

 �.3 �.
�+�� <��$@O14.4sec ��).�� ��.� 
�,���.

N

NN
f

B

bb
3600

4.14−
=

U>V6:
N.�� ����1 ��@?������ �@��
� 

NB��@ �L"�$��� �� �&��/�@�� 
0<= NB=<250 

fbb=>0.050 
?�1[2]:
U�Z
V�[
kJ ��.�$ H
1& (�
�@ �+��� �# ��
!�� �
	�@

 �
���J ��
� �� �&�� ���1 .��).�� ��.
" �.$�
 �+���� 2-�,��TL(average time lost) M�&�� �� 

��)�� �>3 ����
� E�1����h�89.
 H
1 2&�$$�� ��) 
M�&���#�&���� K
	$ �$�� �.

N��� �L"�$��� �� �&	�travel lane:
TL=3-4 

sec/bus 



�# ����� �
�!$%�&�'� (��)* � ���+�!$�� �#�+�&,�� �
-�,�� �����'� �+���& ��.��
!�� �
.& ����!� ���� ��
�� /��0 �#
�
	
	1$�� �!
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 ���� �L"�$��� �� �&	�travel lane:
TL=(g/c) (D+6) 

sec/bus 
U>V6:

TL2-�,�� ��)�� sec/bus 
g���L�� �,��� ��)�� sec 
c�
-�,�� (����� ��+ sec 

D.�� ��)dwellM�& ��� �+���� sec 
���
� ?��1�fbb �"���� ����$�� �
$P�:

o

L
B h

TE =

)1(1
1

−+
=

BB
bb EPf

U>V6:
EBM�&	� 9#��$�� ����� 
PB������ ��
$ �# �� �&�� �&�� 

2-2-5fa�B
����� ��� .��/ )Adjustment for 
Area Type(:

?�1 [1] [HCM2000]:
�!+���� %�� ���@ ?�1
fa���� �
8:$�� (G�L� �	!� �&

 �.���!���& �.
��
$ ��.@�+" �# ��"���� ���+�!$��
&7��J ��@�+" �# ���+�!$��.

M-� .��� ��> �+�.���� ?���
 ������ �>3 �
&+$
 �.
��
$��(CBD) (central business district) .

M-� ��� =>3 ��,$$ :(��.�$��� /"�$�� �������
 (�8�&–����
�.�� /"�$& �
�+�� �"�@6 –���.��1

 ����$�� ����
�� �� �&	� (�
&���–��> ��#�+��� 
(�
W  ��+"J /� �J–����.1	� ���.1� ����$�� 
/�+���� (��1���–(��.�	� (�
&� ���1 –�.#�8� 

�
��& .... 
���L� ���1�� ?�1 ������ �>3 ����$�� ��1$
E�>.�# 

� $!� �
� ������A��+��� 5	@ CBD �.� �
�� 
# K����$�� ?
���� �+��� �b	���CBD .?

 ����

 4�$��.

�� �
� .$�� H.
1 �+����� �# K����$��
 ����� ����
��� �#�$� ��� K$�
" >�9$� E��3�� �J (�

$:
�:
Fa=0.90            in  CBD 
Fa=1.00            in  all other areas 

?�1[2]:
������fa)�!+���� %�� ���@ (E�
.$�
" +.!# >�:


 � ��3��16 �.
��
$�� �
* �-
&��& �+&$�non-CBD E
�& 7����� �
��
$�� �-
&�CBD .��.������ ����J

 �+�.�� �# (��
���� �3�0��� I
)� �J �
�
J �$��
CBD > 2+�!$�� ��
$ ���.�+�!$�� �.� �"J (G�L� 
��&�����E�+��� �# ���� �
��
$ �
* .�>.3 ?��1�

 V�\1 ������Z? .� ��> �+��� �# 2&�$$�� ��) M-�
 E�.	
!8�� ��.&���� �J /�+��O�& (�8:$� �
*� �
��8�

 ����U�Z�V$U�V� ��., ��,.�& ��.�
 H
1& CBD 
I-�$��� �+@J��
$P�:

h(non-CBD) = 2.15 sec/veh 
h(CBD) = 2.26 sec/veh 
fa(CBD)=2.15/2.26=0.95 

2-2-6fLU ���B!�� 9��#��� .��/ )Adjustment 
for Lane Utilization(:

?�1[1] [HCM2000]:
(��1�� ����$�� ���@ ?�1
fLU �0$���� �
* %)�$��

 � �	����� ����1�� �# ����	� ?������ �@��
���$�
$(��1 �� �8�J 4�$1 .5	@ ������ �>3 ?��1 ��$�


�"���� �� ?�1
� (��)* 5	@:& (��1�� �# ������:

NV
Vf
g

g
LU

1
=

U>V6:
fLU (��1�� ����$�� ���@ 
Vg+�&,��� �
* �
������ ���1�� �#�$ ���� veh/h 

Vg1 (�1�� (��1 �# �
������ ���1�� �#�$ ����
 �# (��)W	� ��
" 5	@J ��
� 2��@��
��� 

veh/h 

N�	����� ����1�� ��@?������ �@��
�� 
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�#�$ �# %��$�� ?��1� ������ �>3 �&+
 ���.��� �
� �	����� ����1�� �# �.��� �.@��
�?�� ?&�.& 
�
�+�� M-� �E����.1�� ��.@ �.# �
W$�� �8� 

�1�$���E����1 �8� �
������ ���1�� M-� � �J 
�	
!8�� /�+��O�.

��� ��
" ���� ��1 �# �.������ �� �#���� %)�$
 �������� �# ������$�� ?

 �
	!1�� .������ >�:
fLU 

��
"1.00 �.��1	� �0$.�� %)�$ F��3 ���
 ����@
�
������ � �L�9��� ����1�� �# ?���.��� �.@��
� 
�
�
E�� .�� 4�$1
 ����@ �J ?������ �@��
� 5	@ 

+!# (�1�� (��1.
2-2-7fRT "	BB�	�� �BB!� ��BB���7� .BB��/ 
)Adjustment for right turns:(

?�1 [HCM2000] [1] 
�
.�
�� �.1� /�.+��O� ���@ ���
fRT �
8:.$ 
5	@ ��$�
 H
1 E�
�$��

�� M-� ��� �� �@��
� 

����, �� E���
W$���:
•� �1� /�+��O� ��� �>6 � . �� (��1 �� �
�
�

 �� �J F�>�p���$�� (��.
•����.1�� �.� �
�
	� /+��$ �$�� ��&���� �&��

���$����.
�.�
!�� �.����� �>3 >�:
1.0 .��� �>6 ��.@��
�

?������ �.� ?�1
� E��
�
 /�+��� 4J 4�$1
 O
��"�����
$P�:

��...1 �... �� (
��
�
�� /�+��O�& 

fRT = 0.85 

���$�� (��1 fRT = 1.0 – (0.15)PRT 
(�
1� (��1 fRT = 1.0 – (0.135)PRT 

U>V6 PRT :  �.# �
.�
	� /.+��$ �$�� ��&���� �&��
?������ �@��
�.

?

� �.$P� +���� ������ �>3 �!1
 �J :fRT ≥
0.050 

?�1[2]:
2&�$$�� ��) ��
" ��@headway �.L+����� ��&��	�

 �.��1	� 2&�.$$�� ��) �� ��+J K�J �
� �
�
�� �1�
 � E��
!$���� A�,
J �	
 4>�� ��&�+�� �# ��&���� �8:$$

 �L+����� �&���� � �1��
�
� .�
Y���.
-��� �.����� 
�# �89���1�.
1 �.3 �
.�
�� �1� /�+��O� ���

�
�
	� �L+����� ��&��	� �
,�$���� (�����.
�� ��$�
 �.1� /�+��O�� (����� �$��1 �
"�$� ���$

 K$��.�6 ���.+J 5.	@� 2+�!$�� �
� $ 5	@ �
�
��
 )

�$�� ���
� E�
-�,�� �@ �	 L�� �O�1 2&� �
&

 ��,�&,�&A�:
1.��.+ 2.� �.�
�
�� /�+���� �
� 1 (��1

��1� ��
�
 /�+���.
2.��.+ 2.� �.�
�
�� /�+���� �
� 1 (��1

 ��$L� ��
�
 /�+���)�����.(
3.��.+ 2.� �.�
�
�� /�+���� �
� 1 (��1

 ��1� ��
�
 /�+��� +�����.
4./�.+��� ��+ 2� ���$�� ��
�
 /�+��� (��1

��1� ��
�
.
5.
�
 /�+��� (��1 /�.+��� ��+ 2� ���$�� ��

����� ��
�
.
6./�.+��� ��+ 2� ���$�� ��
�
 /�+��� (��1

 ��1� ��
�
 +�����.
7.+!# (�1�� (��1 �> %��>.
���.�
 4>.�� �3 ��1��� ��
�
�� /�+��O� ��+ 

�.��� �.��1 <��.$@� (���	� K
# ����� �
*��
�
�
�
�� ���1�� ��� (����� ����� ����$���.

�������� ��
�
�� /�+��O� ��+ :�
Y��P� 5.$1
 ��1$�� %���J �8�J�����'�& A�)
�$ �
-�,�� .U>V6 R��
 

�
�
�� �1� /�+��O� ��&��	� �.��1 (�.@��� 2.�
(����� ��� �# (�����.



�# ����� �
�!$%�&�'� (��)* � ���+�!$�� �#�+�&,�� �
-�,�� �����'� �+���& ��.��
!�� �
.& ����!� ���� ��
�� /��0 �#
�
	
	1$�� �!
�+��� �
	!1�� 
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����$���� ��
�
�� /�+��O� (��1 :�$�� (��1�� �3
 ��
!$�� ��&�@ ���1 ��
# ���$ � �@ A�,# ��&���

�
�
�� �1� �L+�����.
��.�
�
�� /�+���� �
� 1 (��1 :(��.1�� �.3

�
�
	� �L+����� ��&��	� �  ����.
�89$ 7��J ����@ A�,
J F��3�� =>3 �#���� ���1� :
� �1� /�+��O� ���1 �&�� �&����& �
�
�5�6 �.��� 

�.��1	� �
.,�$���� (����� ��@ E�
������ ���1��
 /�+��O� �&��� E(����� ��� �����$�
 �
>�� �
�
�
��

 �.�1��� ��+�� �� ��1��� G)
�� ��� ��
�
�� +
�������.

������ ?��1�fRT 2"��� ��
$�� �$
 �J ?

 H.
1& 
7���� ������� ���$�
�
���
��8��� ���1�� �#E�.8 

2"����� =>3 �# �
$���� 2&�$$�� ��) �
" ���!$ �
!��.&

!��� ���J ��@�� �
��8� +��� ��> 7��J 2"��� �# ��

��
�
�� /�+��O�& R��$:
h
hf o

RTr =

N
Nff RTr

RT
)1( −+=

U>V6:
fRTr /�+��O� ���@1�� ��
.�
�

+!# ��
�
�� (��1	� 
fRT � �1� /�+��O� ���@ �
.�
�

 .	�?������ �@��
� 
N� �.# ����1�� ��@ �.@��
�

?������ 
ho���8��� 2&�$$�� ��) sec/veh 
h
!��� 2&�$$�� ��) (��1�� �# �

�
�
�
�� 
sec/veh 

2-2-8fLT ���BB	�� �BB!� ��BB���7� .BB��/ 
)Adjustment for left turns(:
8-1-?�1 [1] [HCM2000]:

/�+��O� ���@ ��$�
 � �1� �� �@��
� 5	@ ���
�
 �# (�89��� F	$� ��&����� ���
W$���fRT����� :

�� �1� /�+��O� ���1 ���� �>6 �.� �$.$ ���
�
���$�� �J � �� (��1.

���...+�� %�...�)�...�1�–����...� –
��1�+�����.(
��L+����� ��&���� �&�� � �1� ���
� �.# (��.1 

�� ���$��?������ �@��
�.
�<������ ������ ����)�&�!��� (��.�
 ����@

 /�+��O�� �1� ���
�1����l̂�.
�@ A�,# �
." 5.	@ ��$�
 4>�� (����� �
8:$ ���@ 

(����� (��)*.
/�+��O� ���@ ���$�
� �1� ���
�fLT�O�1 �� :

1.�
� 1 (��1 +��1� ��+.
2.�
� 1 (��1 +��$L� ��+.
3.�
� 1 (��1 +��1� ��++�����.
4.���$�� (��1 +��1� ��+.
5.���$�� (��1 +����� ��+.
6.���$�� (��1 +��1� ��++�����.

��1��� ��+�� �# �
��$�� �
!�� ������ �>3 >�:
�:
�
� 1 (��1 fLT = 0.95 
���$�� (��1 

LT
LT Pf 05.00.1

1
+

=

U>V6 PLT : /�+��O� ���1 �&�� � �1� ���
� ..�� �#
?������ �@��
�.

?�1[2]:
�
Y������� �>3 ?��1 fLT �.����� ?��.1 �� �!@J 

fRT . /�+���� ���
 � �1� ���
� H�.1
 �J ��., 
�!	�$��� �
���8�� �
����� +����� �
.������ ���&��& 

(���'� ���+J� ���L� �.����� �# ���> �$��fRT .
 /�+��O� ���1 �# ���� � �1����
�E�
Y�O��/�.+�
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 ��
!$�.��� �.��1�� 2.�� 2� �$
 4>�� �3 ��1���
�	&�!���.

h�i" ������ �>3 ?��1�Z����L�� �,��� ��+�� 5.�6 
���"J �8�8:

gq:/�.+��O� E�,��� ��+�� �� ������� G)
��
�&�!��� ��&�+�� ���1& ������& <�$�� 4���
��.

gf:��. �� �)�.�� ��)�� 4J �-��$&O� ��)�� ��J 
�L+��� �&�@ � �1� ���
�����	� .�>3 ��� .�� ��)

 (��.1 �.# ��
!$�.��� ���1�� ��> ��&��	� ���

 ���$��)��
!$�� +�
���
 (��$��1 2&�$$ �J.

gu:�,.��� ��+�� �� 2&���� �
* G)
�� .6 U>V6C�
�
* �&�!� ��
$ ��� F�1$$ ���
	� �L+����� ��&����

2&��.
������ �>3 ?��1� ?�1$ �J ���
 (�!�� N>��� F��3 

�.� �B.# �>� E(�
&� H1& ���
 ��
� ��1 �# +!#
�
	1� �@��" �# ������ �>3 ����$�� ������.

2-2-9fLPb fRPb ��-���B��� ���B��� �	5TB� .��/
)Adjustment for pedestrians and bicycles(:

?�1[HCM2000] [1]:
\
Z�[1\?
������ (����� ���1 ���@ �
.�
�� �.1� ��

fRPb ���.
�� �.1� ��
������ (����� ���1 ���@� 
fLPb O�& 5	@ ���$@ ����@ (�@ E�3� (��.��� �#�8�

 E�,.��� ��).�� �&�� E�
+���� /�.+��� �&�.�
�
�
�� �1� ��&����.

2O3* / � 5�: ���
� C��! ���B���/�B����
 ���: ���!�����
� �	���B�� �������� ����� �B� 

�	������ �
���+�!$�� ������� =>3 ���$ ��
$P�:

2#���� 2+�!$ E��.��@ 2+�!$ E���&��.�� 2+�.!$ 
�����
 �
@ 2+�!$ 

U�Z�h�\1 ��.� �.� 4���.��� ��.
�
�� M-� � 
�� �@��
���G� 1'� �
���� ������$ � �
	!1�� 
����
" �2"���� �# �
������ ������� ��
� �# ��$ 

��& �& 4����� ��1���.���.
�� 4�$1
 �)2�2(
�.�)��� �
�$��

�� � �
������ �
����� ��
+����

?��1	�.
Z�[1i$ �!&���� ��
+���� ����$��&�\?����.���� �
." 

�.�
���� ����� �# (������ ��"���� �
&+$& (�89���
)HCM2000(E�C�.8̂ �� Z�.[1i$\?(��).* �.�
"

%�&�'� .�# ��&��1�� I-�$� M�	$� ���
��)2�3.(
��.�+�!$	� �
1
.,�$ ��.++�� �.	
 ��
# ����

 E��������U>V6 ������ �8�$ 2�5���.�+�!$�� +" ��
�������� �
	@ A�1,�� �� E %����.�� G���J .]&$ �

 ������2�6���+"=>�� �+�!$�� ��1,�� A�.�
	@ �

E(��.��� ����� 2"��� ���.��� �.�J 2�7.]&$# �

++�� �� �����'� ���+J .�+�!$�� �# �
-�,�� ��

��������.

.&���2O5O1>��
� 
>����� 

.&���2O5O2$���/ >��
� 



�# ����� �
�!$%�&�'� (��)* � ���+�!$�� �#�+�&,�� �
-�,�� �����'� �+���& ��.��
!�� �
.& ����!� ���� ��
�� /��0 �#
�
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.&���2O5O3����%��� >��
� 

.&���2O5O4����- "	/ >��
� 

$���/ >��
� ������ ��&�! 

>����� >��
� ������ ��&�! 

����- "	/ >��
� ������ ��&�! 

����%��� >��
� ������ ��&�! 
.&���2O6:������ ��&�!� �	!	��� ����#� 

.&���2O7O1:�&�!�� ����:� �	����� ������ ��#�)>��
�
>�����(
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�.&��2O7O2:�� �&�!�� ����:� �	����� ������ ��#� 
$���/ >��
� 

.&���2-7-3 :�� �&�!�� ����:� �	����� ������ ��#�
����%��� >��
� 

.&���2O7O4:>��
� �� �4����:� �	����� ������ ��#�
����- "	/ 

.��-��2O2:��	����� �����
� � �	������ � �	����	-�� 
�������� 

V 2+�!$�� ����� 
person/h 

AP1 1668 
AP2 796 
AP3 608 

2#���� 

AP4 715 
BP1 552 
BP2 684 
BP3 693 
BP4 1404 
BP5 757 
BP6 413 
BP7 516 
BP8 397 
BP9 715 

����@ 

BP10 1431 
CP1 679 
CP2 377 
CP3 457 
CP4 371 
CP5 725 

���&���� 

CP6 611 
EP1 283 
EP2 303 
EP3 177 
EP4 220 

����
 �
@ 

EP6 175 
.��-��2O3:	
��� ������ ����
� ������ ����� �� ��

�������� �����
��� * / ��;���� 



�# ����� �
�!$%�&�'� (��)* � ���+�!$�� �#�+�&,�� �
-�,�� �����'� �+���& ��.��
!�� �
.& ����!� ���� ��
�� /��0 �#
�
	
	1$�� �!
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	!1�� 

22

2+�!$�� �"�
%��>��

lane 
 group 

 ��@
����1��

N

���@
 <�@
(��1��
FW

�
8:$ ���@
 ��&����
�	
!8�� 
FHV

���@
 �
�
�
�+��

FG

���@
 ��
�
1(��

?D��
FP

�8J ���@
/"�$
�� �&��

Fbb

���@
 %��
�!+����

Fa

TH+LT 10.9440.958 1.0040.87510.9 
TH 20.9330.958 1.0041.00010.9 1

TH+RT 10.9440.958 1.0040.88010.9 
TH 11.0780.971 0.9961.00010.9 

2
RT 11.0780.971 0.9960.84010.9 

2#���� 

3TH20.9440.971 1.0020.94310.9 

TH+LT 10.9330.975 1.0000.87510.9 
TH 20.9330.975 1.0001.00010.9 1

TH+RT 10.9330.975 1.0000.87510.9 

2TH11.0000.973 1.0000.86010.9 

3RT30.9330.963 1.0030.95810.9 

����@ 

4TH31.1890.963 1.0090.95710.9 

1TH+LT 21.0330.960 0.9960.93310.9 

2TH20.9670.935 0.9910.92810.9 

3RT30.9330.958 0.9960.95310.9 
���&���� 

3TH20.9110.931 1.0130.93510.9 

1TH20.9330.956 0.9970.93810.9 

2RT30.9330.959 0.9950.95510.9 
TH 11.0670.943 0.9961.00010.9 

3
LT 11.0670.943 0.9960.85510.9 
TH 20.9330.962 1.0210.93510.9 

����
 �
@

4
TH+RT 10.9330.962 1.0210.87010.9 

.��-��2O4:����!��� ����7� ���
� � �	���!�� .������
�� 9��#������������ �����
� � �	 	 !��� ��;<� 

.��/
"� ��1��7�

B��
 �/��-�
C������

FLU 

.��/
 �����7�

���	 �
FLT 

.��/
 �����7�

"	�	 �
FRT 

�&�! .��/
 ������

 ��-������
"	�	 �
FRpb 

.��/
 �&�!
 ������

��-������
���	 �
FLpb 

.F�!
- C��>	�

.������
�� ��5(���

���
�
������ 

���
�
������ 
�	�	����

So 
)veh/h(

���
�
����7�

S
Saturatio

n Flow
)veh/h(

10.989 1.000 0.84 10.594 1900 1129 
11.000 1.000 110.808 1900 3069 

11.000 0.912 10.85 0.558 1900 1059 
11.000 1.000 110.938 1900 1783 

11.000 0.850 0.9 10.603 1900 1146 

11.000 1.000 110.780 1900 2963 

10.987 1.000 0.86 10.608 1900 1156 
11.000 1.000 110.819 1900 3111 

11.000 0.911 10.84 0.548 1900 1041 

11.000 0.908 110.684 1900 1299 

11.000 0.850 110.660 1900 3764 

11.000 1.000 110.995 1900 5670 

11.000 0.984 110.816 1900 3099 

11.000 0.981 110.733 1900 2784 

11.000 0.886 110.677 1900 3858 

11.000 0.981 110.709 1900 2695 

111110.750 1900 2851 

110.85 110.650 1900 3707 
111110.902 1900 1714 

10.95 1110.733 1900 1392 
111110.771 1900 2931 

110.94195110.676 1900 1285 
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���&���� �&���5�6 (������ E+�� �# �&�@ ��D� ��&�
/"�$�� +� ������ �3��1� �&�
 ����@ /"�$���.

��&�@ F��3 ��� ��1 �# �� � ���$ ���) �# 2+�!$�
 �
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���

 �
��@ �89$ �J ������ �� �$���#%�&�'� (��)* .
J�&$(�� ��.1��� �.&�
 ����@ %�&�'� (��)* ��
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�&��	� ��������&���� �J /."�$�� +.� ��&�+�� �# 
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�
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 ����@ ��$�$� 
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(��� ��& (��� ��
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" >�9$ .��+ �$
 (��� ���

 �
���� ��)�� �
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 ��&�+�� �# (�
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�.&��	� 2&�$$�� ��)(36.5-10.2)/(14-4)=2.63 

s/veh 
S=3600/2.63=1369 veh/h/ln 
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�/"�$� .�.# (�.
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�
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 OY�@ ��.+ ��
# ���
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 �$&�8 �
* .�8�J ��&�+�� ��+ ��� �>6 ��J

 ��10�.&���� ��@ �@���� ?"����� /"�
# ��&�@ 
(������.
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! ����7� ���
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�"��� 2+�!$:
;
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(��1��:
�� �&���� �
& ���)�� � �L��� ��&��....... 

7th 8th 9th 10th 
1
2
3
4
5
6
7
8
9
10       
%��
��� a b c d 

S = (3600*10)/(a/3+b/4+c/5+d/6)  
= Veh/h   

�
Y���&���� ��@ 10H.
1& ��-�� ��
" 5 "J �1� 
H��1 M�# �!$ /
� .$�� �
8:$ �@ �
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